IS asig X

FRR214E4 ] 1 H ~FRk224E3 31 H

(BN )
2 H T ® HE ATAERE TRAE i 3
[ FEEBHZOE
1. FEEHINA
A &= & Ix A 200, 000 200, 000 0
= =4 )74 A 38, 580, 000 39, 125, 000 A 545, 000
7 =7 — BENA 2, 000, 000 0 2, 000, 000
M & »LHE ¥ IXA 600, 000 600, 000 0
M B B F (¥ X A 8, 025, 000 7,525, 000 500, 000
wm oA "8 I A 3, 000, 000 4,000,000 A 1,000,000
EHERTE FEINA 4, 480, 000 4, 480, 000 0
ME )74 A 1, 302, 600 702, 600 600, 000
FERBDNAG 58, 187, 600 56, 632, 600 1, 555, 000
2. BERERBIH
— & F ¥ % 30,667,140 25,703, 000 4,964, 140
7 = 7 F ¥ % 4, 000, 000 0 4, 000, 000
MZE » L B ¥ % 600, 000 1, 030, 000 A 430, 000
M B B F X B 9,941, 000 10, 141, 000 A 200, 000
wmHaAHE B FE X F 3, 000, 000 4,000,000 A 1,000, 000
E8ER T F X & 3, 950, 000 3, 950, 000 0
-4 i ¢ 10, 976, 000 10, 650, 906 325, 094
¥ OE H & X MM 1, 116, 800 1, 083, 200 33, 600
FEFRBHE 64, 250, 940 56, 558, 106 7,692, 834
BEEBINZEEE A 6,063, 340 74,494 A 6,137,834
0 HEFRBNZOL
1. BEIEHHINA
BEIEBNIAG 0 0 0
2. BEIREIH
BEIEB X HE 0 0 0
BEIEBNIN K =R 0 0 0
M FMABEEBINZ O
1. MBIEEINA
MBEIRENINAGH 0 0 0
2. MBEIREIXH
MEIRE X HET 0 0 0
MEIRENIN =5 0 0 0
V FEEX 1, 000, 000 1, 000, 000 0
YHIN X Z=5R A 7,063, 340 A 925,506 A 6,137,834
AT AR S 2 4R 17, 279, 742 14, 663, 184 2, 616, 558
TINS5 10, 216, 402 13,737,678 A 3,521,276




